20 kg

R

1EE 2R SR
EK BX 1 1
Rl o6 051
0—7 1:19 4
R %K 2 ‘
FILFBREAE a1 200
0-3 2:00
FT-T-E 3%3[\ 3 5 ‘052 2:00
AAREAS 4—0 2:00 3
3—0 2:00
E'T'Fﬂﬁ *EKEB 4 o o
AEHEERE o a0
4-2 2:00
ER £H£ 5 - .
BEXE 2o C2:00
3—0 2:00 3
&2 BEA 6 o
RS et a0
1-0 2:00
%A FF 7 - 1
wRINKE 0—-2 2:11 1
1-3  2:00
[RE #X 8 3
RRKE
BEMEY
2B BBREM,
BR HKED 4 - 1
IEHEERE 1—0 2:08
0—1 2:00 4
tha ;%j: 2 1=M 2:00] 3 o
FILFBREAE 120 2.00
2-3 2:00
IE{% iﬂﬂ 5 1—-® 2:00 3
BERE
253 EZ =5
1 |SPE A BAGEXE
2 R AT REEAY
3 |ER ER| BHEXE
3 | Bl % | BERKRP
5 |XE BmA |FuemAY
5 | & HEE |LRFmAY
7 |ER R HEXP
8 |BEM K| mEXF

SR R 1E
0
3
3
PP
2-0 2:00
N 1-3 2:00
2-0 2:00
1
1
4
™v
5—3 1:59
0
3
5
PP
° 3—1 2:00
3-0 2:02
3
1
1
PP
2—1 2:00
0-3 2:07
0-2 2:02
5
3
0
PP
5—2 200
3 6—0 040
1
1
3
PP
0—3 2:00
2-0 2:00
8—2 1:43
3
0
0
PO
! 0—2 2:00
0-6 1:22
0
3
5
SLRE 2@
1
1
3
sP
! 0—6 1:02
3—1 2:00
4 [3-10 1:36
PP
1-6 2:00
1-7  1:59
3

2:00
1:23

1:16
0:48

00
a4

0:39
2:00
2:00

00
34

2:00
2:00
2:00

0:29
1:20

BEMEY
1@

PP
2:00
2:00

20

21

22

23

24

20

24

—s—— 9 fRIE =

ARXIER%E

Ak ¥
ARXE:

AE BX

BAXEAY

EH FEk

FiERE

=X FE
EtfEx®
BA
BAKE
+= B=2
g =
BRAKE
ML
HRBEEKRE
BT EF
BREXZ
=M 4E
ELKE
® e
AR

W X

AR
=RV

ikm =/A
RERZE
&7 Bt
EBRE
HE FE
FALFBRAE

® e

e st

EE 4E
ELKE

W X

REXE

W’ RS

M st

Ak F

BAXE



